Bl LL I -y " ”\/\ |
ke VT IVAV /1" ==V
12D IR T T3 APY-ERNT ( .

\\\\\\
''''''

REIMEZ
INITRREDARIEICIEHE

BRI DBIRFIRIRE+

W NTFIE

MIBER Lo ) EBUNT  RL-MIHT

Al LI

PAL Co.,Ltd.




EBEEIILIb
RINMI

TiEtEE  TRASER LR

A=IN=BILALYRZI

T S | ° o< TEE O KVEE
_— _—===
: i — —
Ho
B{:mm g
e & = =
M6x1-M7x1 | 4.5x16x1.00 |451| 8 |3.41| 60 | 16 |4.10| 3
M8x1.25 6.2x21x1.25 [6.23| 10 |4.91| 71 | 21 |5.10| 4 O
M10X1.5-M12x1.5| 7.8x26x1.50 |7.75| 10 |6.11| 76 | 26 |6.00| 4
M12x1.75 | 9.2x31x1.75 |9.16| 12 |7.21| 86 | 31 |7.00| 4
M14x2-M16x2 [11.1x40x2.00 [11.08| 16 |8.91| 98 | 40 |8.10| 4
M18x2.5-M20x2.5|14.4x51x2.50 [14.38| 20 [11.71/111| 51 [10.00 5
B NI>—% (EEMTEDLE) B YHIRGR
CNCYYZ—Jt5— Yl & FIEEEEm/min | 3%Jmm/rpm
M10X1.5(E6) 3|38 7900N/mm2E D3 150~250 |0.05~0.08
—7 5 (5 3573 750N/mm?) 313%71100N/mmP&COMSE| 100~200 |0.03~0.05
ol 20mm TEH 100~200 |0.03~0.05
27 L 28R 100~200 |0.03~0.04
. i - FILIZHLES 200~300 |0.05~0.10
BRI A== )LALYRZILOINT ok 200~300 |0.05~0.08
T#=1 Ty T3] TN L EERFC FJV20-UHS (25,000 r.p.m)
T2 W— U3 *‘7@;]373”1\ 45MPazl—7—5 >k
TS MWT EROML ) M
T724 W—)LAZHE 21,220 r.p.m 7,200 r.p.m
T#25 EEOINT EIEIEE 300m/min 250 m/min
Tig6 W— )33 i 3,819mm/min 1,440mm/min
- 200% 150%
T#%7 KIEIOMT : ‘ .
= ; BRI -5 7 EBUD LB
MIESM:34% NI ESR: 138
TESRD# <7y FH480
35 $55%FC25
30 21 w M6x1.0(§7X)
- 8mm
ﬁll ﬁ YIEI=RE 170m/min
12,000 r.p.m
1,200mm/ min (1 7124+)0.33mmsE4 . 3K 0O 1 mm/ 1 ElER)
48,0007
BEOSYTINT A=)\—)L-ZLwRSILTOILT DO B 0.83%




*EHIM A
JIRIL

AT X P=EJ FIVER

Z DfthEHIHAFICE I

Thre- | Milling Cutter
Zl/‘y “~ 'JJ77J‘¥9— HR F500 503

RER YY) -EHAIM-BL. ERG1EFT

LK B NIz—%
@ MHEBOKAIEHIREES{L
@ I TREREDIEHE M12x1.75

Inconel 625
Vc=55m/min
fZ=O-03
10 2mm
7JI]IH—*fF"3 BEED

W I TFIE

WIS MIBE  Y—%15  EYE—KC RL—

[ mT BE MIET
f f
L ‘ L
ALyYR 3Ltk M M
M1X0.25 074| 3 | 32| 3 | 4 ;
M1.2 X0.25 090| 3 | 32 | 35| 4 i
M1.4 X0.3 100 3 |32 | 35| 4
A a

M1.6 X0.35 1200 3 |32 | 4 | 4 B tDEISE4
M1.8 x0.35 135 3 | 32| 4 | 4
M2 X0.4 150| 3 |32 | 4 | 4 T R |GIMIEE %Yfzlmm]
M2.5 X0.45 190| 3 | 32 | 6 5 G UME VVem/min | $10~20 |
M3 X0.5 2.40 3 32 6 5 SCR415 500~700N/mm2
M4 X0.7 315| 6 |55 | 9 | 3 S45C 600~800N/mm? | 180~220 | 0.04~0.06 | 0.06~0.08
M5 x0.8 400| 6 |55 |11 | 3 SuUJ2 700~900N/mm?
M6 x1.0 480| 8 | 60 | 16 | 3 SKD11 S00~T1OON/MF 14180 | 0.02~0.04 | 0.03~0.05
M7 x1.0 480| 8 |60 | 16 | 3 SKD4 1100N/mm? R DR
M8 x1.25 640 | 10 | 71 | 22 | 4 NCF800 610~850N/mm? | o - -
g eaol 10 | o1 |2 | SIS 200=700N /e | 80120 | 0.03~004 | 0.04~0.06
M10 X1.5 800| 10 | 76 | 26 | 4 ?‘%2‘)1'/3‘8)%? 420~610N/mm2 | 50~60
M11 x1.5 800| 10 | 76 | 26 | 4 NG 1ONDNI 0.01~0.02 | 0.02~0.03
M12 x1.5 800| 10 | 76 | 26 | 4 (omsn71g) | 850~T190N/mm2 | 40~50
M12 x1.75 960 | 12 | 86 | 27 | 4 Haynes25
M14 X2.0 11.20| 16 98 35 4 (LBO5) 1550~2000N/mm2| 30~40 |0.005~0.01| 0.01~0.02
M16 xX2.0 11.20| 16 | 98 | 35 4 TiAIBV4
M18 X2.5 1440 20 1111 1 44 | 5 (352 1nesd)| 700~900N/mm2 | 70~100 | 0.03~0.04 | 004~0.06
M20 x2.5 14.40| 20 | 111 | 44 | 5 X155CIVMo12-1 | 60~63HRC | 50~60 |0.01~0.015|0.015~0.02




REEARININI
AO079x4FvIf1

mteE  FyIITEEN MISEER

*FHZIJ‘V VS 'JJﬂ?J‘y’a"— F501

mER W NIFIE
@ SV TIEME XN IH TEET,

Q@ ELCEIHIARDHYZ—TCINITHEFEEFTDT
G, AT O Ll bl ol

MIRES MIBE Y—Fa17 - RL-
mT BE) MIRT

@d1 165~ p40.25

(IR @ 16.5~ @ 145) | l'
f , L 1
e D B [ D] M M D:|

_6 m

|

BT/ +v>%
@ d1 p40.25~66.5
(INI74E ¢ 40.5~ ¢ 260)

SK JIS B 6339
(MAS 403 BT)

"'O 4
<
Iy
M52x5.0
5162

HYIHLRE Vec=500m/min
IBSED)Es] f=0.15

3

47mm

IITRERS 72

WE2DH2O71$5E, ZFEKTEN,
WEDHEOTIEFELUCEETBIEN HIET,

N1V Z4 x4t (1% NORIS) #iATT

mxan INJD

RREAFRAXEAE2-17-17
T101-0032 TEL.03(3851)5821 FAX.03(3851)5810
URL : http://www.pal-co.jp/




